AfIe AR

outT IN

GROSS

HDGP

NET

' B (LU —=F 37/ 34 717 1.00 70.0
EER R ES 38! 38 16/ 6.0/ /0.0
3L TeH ZFEsh 40| 39 797 8.0 71.0
A | B ZER 41| 39 80/ 8.0 72.0
bii FE BE 42| 40 82 9.0 73.0
6fi |FZFEP =T 41/ 40 81l 8.0 73.0
16 EEE AR 3737 | 74 1.0 73.0
________ 8hL HIE & 45/ 40, | 85| 11.0] 74.0
Oz hlE XK= 43| 43 86, 12.0/ 74.0
1062 B BEZ 44 40 84 9.0 75.0
1148 | #R  2=Z=ER 43| 42 85 10.0 75.0
1260 55FH ZEE 40, 40 80/ 5.0 75.0
136 A& Y74 42| 43 85/ 10.0 75.0
146 =B FE— 44| 42 86/ 9.0 77.0
15 fHE BR 44/ 43 8/ 10.0 77.0




A#l#Fx BOTX ouT  IN GROSS  HDCP NET

B B Bk EH 5041 | 91 25.0/ 66.0
Ll HE M2 49| 48 97, 27.0, 70.0
3{_L i R F 40! 43 83 13.0 70.0
i |'BIR RZ 44/ 45 | 89, 18.0 T71.
bzt |1 HE 42| 46 88 17.0/ T71.
ofii =R FEWR 49| 45 04| 22.0 72
6L ERK £ 43 44/ | 87 15.00 72.
8L fitE ENX 46, 44 90, 17.0] 73.
OGL & & 44] 50 94 21.00 73.0
105 | FTE E— 49| 45 94 20.0, 74.0
1140 #@F B8 48| 49 97 23.0 74.0
120 PRE n# 47| 52 99 25.01 74.0
13 |Z|R IEX 52| 45 97 22.0/ 75.0
14 Fx HRE 47 49 96/ 21.0/ 75.0
1511 |7 NS 46| 45 911 15.0! 76.0




B#HHF LFs—R ouT IN GROSS  HDCP NET

1% % AlE  EiF 46/ 45] | 911 18.0[ 73.0
=12l KB <HY 39/ 39 181 5.0 73.0
L TFF JZ= 38| 44 82 8.0 74.0
M Bl EF 42| 44 86, 11.0/ 75.0
il |#K = 54 46/ 11000 24.0 76.0
oL & R FE 411 37 18 2.0 76.0
i ®E EBEx 48| 39 87 8.0 79.0
8L ERARK EBEBEH 44| 42 86 7.0 79.0
Oz |E7E ZFEiE 41| 42 83 4.0 79.0
106 et FI& 41,420 ' 83 3.0 80.0
14 24 = 448 | 94 14.0 80.0
1260 = F 1 43| 45 88| 6.0/ 82.0
136 8 SHUY 44| 47 01 9.0 82.0
1441 h B8F 43| 46 89/ 5.0 84.0
154 k43 e 48, 48 96 11.0 85.0




